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grerAtard IIAT / Guidelines for the Candidate
1. YA ATART d IRETT $HHATRRT 3cdl e A@rear @HEr e €ardar.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. YReT ge goargdl faegnedien carear dqot g @ sogrardr 30 fafae e 9 dvard
RECE

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. WX YRAYRTARHET THFUT 100 TR& I Tcdh JRAIST 2 0T 3R,
This question booklet contains 100 questions each question carries 2 marks.
4. I 9T ASA0T 9TF 3R, Tl SccRTagel fAasTeledT 0T gwcveué‘l YR I[0T TSIl shel
SAUIR TSN
All questions are compulsory. There is no negative marking.
5. 3NUcAr FEITE TRAYREHT [ASIeardr TET Seal el
Check to make sure that you have received the appropriate test booklet for your standard.
6. UIATATHEY Shddd Thd Jcadl SIS 3R, U Scaidrdr Tehd gy fagsmEr.
There is only one correct answer. Choose only one option for an answer.

7. 3T 9AT EIAUIATATS! hdes hIdl/ [T TIET STeldaTd a3,

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg. Visit www.rtsexam.com for Answer key after 8 days
Q. x : - Fill in the blanks.

My father went.........ccceeeveerreecnennne To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x . @ @

To option a) in the Answer Sheet

8. URET HUGATEX THH ScckuiIenl THAETHHS Tl .
Return the Answer Sheet to the invigilator at the end of the exam.
9. 3MueaT URET HAih TRAYRdHaY Feal ToIgral  Hel TRAYEcehl TRET Hrellatheic] 3TedT Fidd =T

Write your Roll No. on the Question Paper too and take it home for future reference.




GrelleTdeh! T T5T SelaicegR AdGl IO ARG dlgel o delel?

A) HERTSS B) I[oRTd C) 3cdiucer D) fegR
Which of the following states became the first in Internet voting?
A) Maharashtra B) Gujrat C) Uttar Pradesh D) Bihar

ST.ATSATRS ST HJEHATS Ggel IS chel?

C

A) B) YceTTTaIY C) HETS D) #HeS
Where did Dr. Babasaheb Ambedkar burn “Manusmriti”?
A) Nashik B) Ratnagiri C) Mahad D) Mumbai

HIATAT TUH AR T 37TaAr?

A) TdTETT B) IreIdTel C) Irsgudr D) FTT =TT
Who is the first citizen of India?
A) Prime Minister B) Governor C) President D) Chief Justice

IMYfAsh HRATH T fASTOMRY Sfefeh VT FEOTAT?

A) TS For B) AT R

C) SI.USTRId CIAT D) HGIcAT SAfdam ol
Who is called as the pioneer of women’s education of modern India?
A) Savitribai Phule B) V.R. Shinde

C) Dr. Panjabrao Deshmukh D) Mahatma Jyotiba Phule

g TR (HS) S HIoTeAT TANHIES SUAT 3Tell?

A) STBTHETRT 3 B) SI.STETHRT 38

C) JUIATT TEIU] D) BFYdr TAarell #ERIST
For whose memorial the land of Indu mill (Mumbai) has been given.

A) Balasaheb Thakare B) Dr.Babasaheb Ambedkar

C) Yashvantrao Chavan D) Chhatrapati Shivaji Maharaj

IRTST TaT Ju WTAGIcTAT ABTITAAAT HIUTAT AT ST ?

A) TERTECH B) 3fehlell C) gor D) el X
Where was the silver jubilee Mahaadhiveshan of Maratha Seva Sangh held?
A) Amravati B) Akola C) Pune D) Solapur

JScardl O eI 3ETeT T 3Hed?

A) G JAR B) BIleT ¥leicd  C) Foilel e D) Yot He
Who is the president of Nationalist congress Party?
A) Sharad Pawar B) Chagan Bhujbal  C) Sunil Tatkare D) Dhananjay Mundhe




10.

11.

12.

13.

14.

ST *ATE HAGRISITT FH5 ATd H1?

A) TAATT B) JdTRIa ORECISIFES D) I AATET
What is the original name of Rajarshri Shahu Maharaj?

A) Yashavantrao B) Prataprao C) Shivajirao D) none of these
HERTSCTATS! TATd STEd SieTelT@Tellel &1 Segara 31e.
A) Seferom B) HIoT C) g D) ST&Id
Maximum area under forest in Maharashtra is in the district of

A) Buldhana B) Solapur C) Chandrapur D) Jalgaon
‘AT Q@A FT a7 el "efed g,

A) PedTel B) SsfHeeT C) grehr D) fshehe
“Aga Khan Cup” is associated with the game of

A) Football B) Badminton C) Hockey D) Cricket
TP Togr g1 gideg 3TTe.

A) HHATSAdS B) IJTAaidr C) W3 D) IIhR
Abhinav Bindra is a famous

A) Social Worker B) Film Star

C) Sports Personality D) Jurnalist

31.UA.T. FgUTS

A) SegeldieT FgfFaen A

B) f33iifererraal ~yfdoren 3ifAs

C) feraa gfFerer 318

D) fshrsiiar sgfeFeren 31

DNA stands for

A) Developing Nucleic Acid
B) Deoxyribo Nucleic Acid
C) Deribo Nucleic Acid

D) Decreasing Nucleic Acid

HERTSETTT 8T 3ThRIA AT o8l Tolegl 3],
A) fEamelr B) HSRT C) HeS NIGURED
In terms of area is the smallest district in Maharashtra

A) Hingoli B) Bhandara C) Mumbai D) Nasik

‘FSTAH & Qe HIUTAT WATHTST Irael STar?

A) eoof g B) efa g C) SsffesT D) gigad
For which game is the word ‘Grand Slam’ used?
A) Table Tennis B) Tennis C) Badminton D) Chess




15.

16.

17.

18.

19.

20.

21.

22.

TR @ el § e ol fafger?
A) BT, g G

B) SI. 3Tg. AW

C) 33, T¥cad WsHhT

D) M AT

Who wrote the book ‘Vichar Tar Karal’?
A) Dr. Narendra Dabholkar

B) Dr. A.H. Salunkhe

C) Adv. Purushottam Khedekar

D) Shyam Manav

ARATAIST TT gead held 5137 hemaady 31g?

A) HAHT Feled B) Helelcl §oFeh

C) ANTGIH dcd D) ISEAT

What is article ‘51A" of the Indian Constitution related to?

A) Fundamental Duties B) Fundamental Rights

C) Directive Principles D) President

HACGT 0T ARAT AR Hacd 3Te.

A) IR B) HTHISIh C) TSI NIGIGED
To vote during election is a duty of citizens.

A) Legal B) Social C) Political D) Moral

AEIHA GreflordehT HIMTET SR 3AATT?

A) GdgHTT B) Irsgudr C) T=Jqrel D) faemeraa
To whom the chief minister is responsible?

A) The Prime minister B) The President

C) The Governor D) The Legislative Assembly

‘TS T ereerear ATt ersg=r I fAgsr.
A) ITSIET B) TS C) rair D) 3mir

NCANEAR IR IR I D EE
A) efea B) fafgrea c) drefrea D) dfared

UATT FlATd aR R AT qrarardiel SAeT 3eEr.
A) GhdE A B) 3Thdsh 19 C) FHHT D) ol

IeXfaaTe & reer=ar gaEet e T fAgsEr.
A) TRy B) 3EIIROT C) &femendr D) SUTETYT




23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

HARL T AYserar 3 -

A) HATATS STHI B) HATAT I

C) YT SO HA D) AN SATOTR HeA

A9 ereg A,

‘3T JUTRT qrgom

A) 3ifaefr B) 3T C) AT B gleal D) ITdr ATET

ey AT regrar et Faeen oG ARG NBa.
A) 3Ty B) B C) 37efeTr D) SR

Choose the appropriate adjective for the sentences given below:
| don’t believe Sayali can be a good leader . she is always too eager to please her seniors
A) Manipulative B) Lazy C) lively D) Obsequious

Select the opposite of the given word:
Sympathy
A) Enmity B) Empathy C) Abhorrence D) Apathy

Find the appropriate meaning of the underlined word from the given sentence.
Although the situation is bad there is no cause for concern.

A) Caution B) Desire C) Attention D) Anxiety

Arrange A,B,C,D and E in order to make meaningful sentence.

A) Coming B) Seen C) Had D) Then
E) She

A) CEDBA B) ECDBA C) DECAB D) ECBDA
Fill in the blank with appropriate conjunction:

I love him he is honest.

A) for B) Till C) That D) As

Choose one meaning that best expresses the meaning of the given word -
Genuine
A) Authentic B) Legitimate C) Reliable D) Pure

Fill in the blank with the most appropriate preposition.
| have been married Babita for over ten years.
A) at B) to C) with D) into

Fill in the blank with the appropriate alternative:
Shreyash is growing tall, ?
A)is he B) isn’t he C) will he D) won’t he




34.

35.

36.

37.

38.

39.

40.

41.

Srerfaes 3R g wElt FreRT Sholl SATAT?

A) 7 38R B) 7 Ufel C) 10 sArcgsX D)10 &
When does world Health Day celebrate in the world?
A) 7% December B) 7% April C) 10" November D) 10™ May

TSI QATEr 0N elTelr?

A) I BIS B) Il UTATT ) fo¥edm AR D) SiFH dUsfas
Who discovered Neutron particle?
A) Rutherford B) John Thomson C) Neils Bohr D) James Chadwick

Solarcle] ATIShIEHITTT QT hegl ATITeT?

A) 1936 AD B) 1944 AD C) 1940 AD D) 1948 AD
When was an electron microscope invented?
A) 1936 AD B) 1944 AD C) 1940 AD D) 1948 AD

qLEeAT JESHTANSIacs ‘g Hed fohcll 3H?

A) 9.83 m/s? B) 9.78 m/s? C) 9.75 m/s? D) 9.3 m/s?

What is an average value of ‘g’ at or near earth’s surface assumed?

A) 9.83 m/s? B) 9.78 m/s? C) 9.75 m/s? D) 9.3 m/s?

ETATIITEN IRARCT FAISTUAT Teheh 3TE.

A) Al B) o= C) gt D) ITYT SATEr

Sl unit of sound wave is

A) Meter B) Pitch C) Hertz D) none of these

HR Fethed 0T 3R,

A) CuSos B) CuCos C) Cuo D) CuCl;

Molecular formula of copper Sulphate is

A) CuSos B) CuCos C) Cuo D) CuCl;

Ik 3o qarafas 3ofa TaiaR .

A) HUET B) STenfiher C) FaARITheT D) AT AT

converts the Solar energy into the chemical enery.

A) Karotene B) Xanthophyll C) Chlorophyll D) None of these
g 3STAd Udheh 3118,

A) °C B) °F C) Cal D) Cal /g°

Which of the following is an unit of Heat?

A) °C B) °F C) Cal D) Cal /g°%




42.

43.

44.

45.

46.

47.

fdegd Qo sreredier (Life) o 37doiee 3.
A) 3T}

B) EHIIATTAT ATATaRUTTA 3TgdT

C) JoI=AT T T 3fARIrET T fhar ardr

D) URTer=l J[oTdedr

Life of battery-cell depends upon

A) Its Size

B) Humidity of surrounding atmosphere

C) The rate of chemical reaction inside
D) Quality of packing

FIRT & GEIST 9T JEIQUIRT HeR’T 3794,

A) eafaes B) ERILCT C) SadcThr D) SmEIdTel
waste is infectious in nature.

A) Industrial B) Domestic C) Biomedical D) Garden

A) 32°F B) -32°F C) 180°F D) none of these

Freezing point of water is

A) 32°F B) -32°F C) 180°F D) none of these

&1 dicorl add Sid 3e?

A) IIRT - 64 B) TIATToIehT C) 3Tl D) ST T-141
is Hybrid variety of a rice.

A) Sonara -64 B) Sonalika C) Arjun D) Jaya T-141

rsar :

2.9744 + 4

A)1.7436 B) 0.7436 C) 1.7436 D) 1.07436

Solve

2.9744 + 4

A)1.7436 B) 0.7436 C) 1.7436 D) 1.07436

oAt 31 a9 faedn Hefrear qaredr graye 3¢, IR awigdl carear garr sdeT 28
T8 gl ; R A 3o 37 e
A) 6 I B) 36 aY C)30 a¥ D) 24 I%

Sunita’s todays age is five times her daughter’s age. Four years ago, the sum of their ages was 28
years what is sunita’s age today?
A) 6 years B) 36 years C) 30 years D) 24 years




48.

49.

50.

51.

52.

Tt T 80 % TRl SISl ScaoT Srel.75% wdiemeft arforara 3cdivl smer 3nfor 75%
SIS g AMOIT AT Glegl [ANATT SccdioT Slel aX 40 Tt Sareht @ a1foia a1 elegiaey
30TecTol STel; T adieter Ukt fhch qdemedt sEer gia?

A) 200 B) 400 C) 600 D) 800

In an examination 80% of the examinees passed in English, 85% in mathematics and 75% in both

English and mathematic 40 examinees failed in both the subjects. How many examinees appeared
for examination?

A) 200 B) 400 C) 600 D) 800
i ?Y T :
Simplify :

X . x-5  x%-25
Tz st

x+4 X X— X
n = B) 22 0 = D) =

HIGTedT 3Tehelld, ABLACT EF L DF, AB = EF 3{lel TR Trellel Thr SIS 9ATT SHIUTAT.

In the adjoining figure, seg ABL seg AC, seg EF L seg DF, AB = EF and BD =CF, then which of the
following can be true.

A

A) AC = DF B) AC | | DF C) AB || EF D) All of these

2x4 - 6x3-56x2 T 3x3—147 AT oA Tohdl?
A) 6 x%(x-7)(x + 7)(x+4) B) 2 X2 (x - 7)(x + 7)(x+4)
C) 3x%(x-7)(x+7)(x+4) D) 6 X% (x - 7)2(x + 7)(x+4)

L.C.M. of 2x%—-6x3-56x% and 3x3-147 is-

A) 6x2 (x-7)(x + 7)(x+4) B) 2 x? (x - 7)(x + 7)(x+4)

C) 3x2(x-7)(x+7)(x+4) D) 6 x2 (x - 7)%(x + 7)(x+4)

(4a% + 4a + 1) 819hcd Il ARAT &S] Hrer.

A) 4a+4 B)2a+4 C)2a+1 D) 2a-1
Find the side of square whose area is (4a% + 4a + 1)

A) da+4 B)2a+4 C)2a+1 D)2a-1




53.

54,

55.

56.

57.

58.

T I [Afse BIHey FEr IR ITeld. S AT WY 20% o dedell ¥ a9 IR
R FUITETST SRTUMY Y fohcll carerdisll AT gicitel?

A) 20% B) 16 % )8 =% D) 10 %

A wheel completes some revolutions to cover a certain distance. If the perimeter of the wheel is

increased by 20 %, then to cover the same distance by what percent the number of revolutions will
be reduced?

A) 20% B)16§% C)8§% D) 10 %

0.36 IT JEIAI ddcléjoblﬂl g fohdr?

A) 2.16 B) 0.216 C) 0.0216 D) 0.00216
What is the cube of the square root of 0.36?
A) 2.16 B) 0.216 C) 0.0216 D) 0.00216

Tehl TCTcl THUT 90 EFiehel 3HTed. oAl 38 Tl faTd. 42 =@r @ i [, seX &4
A) 10 B) 38 C) 42 D) 52
In a group of 90 people 38 take tea, 42 take tea and coffee and all the rest take only coffee.

Therefore the number of person taking coffee is
A) 10 B) 38 C) 42 D) 52

92.2 +4.8X4.04+3.84=7?
A) 10 B) 30 C) 20 D) 40

TehT GE fhAT 5000 %, 3R, S AT TEIAH 12% He ABeard a1 a&qdr fhAd

A) 4400 % B) 4800 % C) 4940 % D) 4988 %

The price of an item is Rs.5000. If there is 12% discount on it the price of that item would
be
A) Rs 4400 B) Rs 4800 C) Rs 4940 D) Rs 4988

THT Akl 3T 20% 7 FAT Fell T 3 50% o dTG[dell, TR AT HHRATAIT ORI
dcel-

A) 4% T<T B) 4% dT& C) 20% dTe D) 20% €€

The radius of a cone is decreased by 20% and height is increased by 50%. The change in the volume

of the cone is
A) 4% decrease B) 4% increase C) 20% increase D) 20% decrease




59.

60.

61.

62.

63.

64.

65.

aleT HEATET SIS 146 3eT ATl Wieh 18 31§, dX ol §&T
3T d.
A) 82 3TOT 64 B) 100 3TOT 46 C) 20 37TfOT 38 D) 82 3TfOT 100

The addition of two numbers is 146 and difference between them is 18. Then these numbers are
A) 82 and 64 B) 100 and 46 C) 20 and 38 D) 82 and 100

gigar:

(x%2-y%) (x+y) _
(x+y)?

A) (x-y) B) (x+Y) C)(2x+y) D) AT =ATEr

Simplify

(*-y*) (+y) _
(x+y)?

A) (x—-vy) B)(x+vy) C)(2x+vy) D) None of These

A) sreff B) SUcIhiall ) e D) HraTell

Which of the following is the main center of looms and power looms in southern Maharashtra?
A) Barshi B) Ichalkaraniji C) Miraj D) Sangli

HERTSCTEAT THUT &TTBIeh! Tiiel - TJATRr HIATT HeT 3TGasd.
A) ST HeT  B) WR Hal C) dT el D) SiTef Fer

About three-fourth portion of Maharashtra, has soil.

A) Alluvial B) Regur C) Forest Soil D) Lateritic

Wrelleliehl HIoTedT Toleedia Wietel due fager 3mg?

A) 9o B) TaW c) & D) &Y

Which of the following districts has abundant mineral resources?

A) Pune B) Chandrapur C) Beed D) Solapur

HIOTAT T IfgH arfgar AI?

A) 3c81H B) daRoM C) st D) IATYhT ATET

Which is not a west flowing river?

A) Ulhas B) Waitarna C) Kundalika D) none of these

gIqH 3TTeATT 3118 ECRIGEEIFE-SIGE

A) Tayed B) YcetTiardy C) TS D) afier & foreeard
Alphonso Mango trees are found in the following districts:

A) Sindhudurg B) Ratnagiri C) Raigad D) All the above districts




66.

67.

68.

69.

70.

71.

72.

HERTSE ASATciTel FaATd S ToldT - F[0liceR HioTedn fSeeard 3me?

A) 31O B) TcelTiaRy C) g D) SARTYX
In Maharashtra, the highest sex ratio is in district.
A) Thane B) Ratnagiri C) Chandrapur D) Nagpur

37T § I ATET 3T8?

INK:IGED SIGISED C) =gt D) TSI
Economicsis a science
A) Physical B) social C) Natural D) Political

FIIIA T gaFedl 3cdTed FaTd SEd 3Gl Tolegl HIoTdr?

A) TITHTS B) 3TFTGCT C) gor D) STasamd
Which is the district known for the highest per hectare production of cotton?
A) Yeotmal B) Amravati C) Pune D) Jalgaon

FERISCIAT q4 - GIRA [aEARMIET giaioicel faedr
A) HHEY 3R B) SIEd 31T¢ C) dderda 37g D) JdTedl 3T

North — South extent of Maharashtra is its east —west extent.
A) Less than B) More than C) Same as D) Different From

SIHATS! AT Aol shg, Tl T [Seedrd 3Mg?

A) GIHORY B) lcl C) HSRT D) 3iRemere
In which of the following districts is the Jayakwadi fish hatcheries centre located?
A) Parbhani B) Latur C) Bhandara D) Aurangabad

qe feeledn wRaTd ufgedr alel YeiHEd STET Heer 3Te, d@r Hey fauear a e
USTHEY 3. YREAT-gredT SIEl Hivid Ue uifgst o feeledn qaiaiaesT ied .

In the following questions, there is some relation between first two terms. The same relation exists
between the third and fourth term. Indentify which term amongst the alternatives will appear at
the question mark.

122 :170::290:°7
A) 364 B) 362 C) 352 D) 324

JIHG : DCBA :: TSRQ : ?
A) KLMN B) NMLK C) ONML D) PONM

10

——
| —



73.

74.

RaT Ty
O < O 2
3cdX 3Tl
A) B) 7 Q) D)

Question Figure

O O =

Answer Figure

B Y T Y R

A) B) 7 Q) D)

Grellel YT 3Teheidl 3RATCHr ITAAT G T,

gR&T 3Tl EE ]
O EE O
A) B) C) D)

In the following question choose the correct mirror image of the question figure
Question Figure Answer Figure

I R | R N N

A) B) Q) D)

11

——
| —



75.  Wrellel 3Mehciiciier Ao g fahcdi?

How many triangles are thre in the given figure?

\/ N/
/\ /\

A)8 B) 10 C) 12 D) 14

76. TRl Tlhdlish foldid ‘RED’ 2rsg ‘SFE’ 31@T fifger Smar. a¥ g fordia ‘BLUE’ 8T 2Use &»ar

forgrar?

A) CLVF B) CMVF C) ALTD D) ALDT

In a certain code language ‘RED’ written as ‘SFE’. How is ‘BLUE’ written in that code?
A) CLVF B) CMVF C) ALTD D) ALDT

77.  @relel S8l ThcAIHAYA “IMeh, Hel g Hell” ATl 3feh Heer Aoy 2
EIC S INTCED
Select a venn diagram from the options which best represents the relationship amongest
“Singers, Boys & Girls ”.

@IOEES

A) B) C) D)

78.  Trellel HTehelld YATdegIedl SIEN IO &A1 IS, IS AT 93T foAagsT

Which number from the options will replace the question mark in the figure given below

5 | 10| 30
? 13|12
28| 14| 32
A) 36 B) 16 C)7 D) 34

12

——
| —



79. fa@era gew 3.
9, 40, 156, 464, 928
A) 156 B) 40 C) 464 D) 928
Find the odd man out.
9, 40, 156, 464, 928
A) 156 B) 40 C) 464 D) 928

80.  Wrellel 3MTehcll qUT OIS RepaaT Sl AUIRT Sealran AT 94t foas.
TR 3Tl 3cdR 3Tl

A) B)

In the question below trace out the suitable alternative to fit into the blank space in order to
complete the pattern
Question Fig Answer Figure

81.

Find the odd figure out.

A) B) C) D)

82.  TTollel Yol HTehcirell UToTcliel UiciAT GATATClsT Mer.

Find the water image of the question figure from the options.

Question Figure Answer Fiure
PR PR
A B) Q) D)




83.

84.

85.

86.

ST NAME = 13261422, dX TEAM =7

A) 7222614 B) 1426227 C) 7262214 D) 7142622
If NAME = 13261422, then TEAM = ?
A) 7222614 B) 1426227 C) 7262214 D) 7142622

@rellel sara 3AqUT A frar

1. fageah 2. STl

3. 379 4. fAqs

5. HellWd

A)2,5,4,3,1 B)3,4,5,2,1 C)2,3,5 41 D)3,2,5,4,1
Arrange the given words in meaningful sequence.

1. Appointment 2. Advertisement

3. Application 4. Selection

5. Interview

A)2,5,4,3,1 B)3,4,5 2,1 C)2,354,1 D)3,2,54,1

ol¥ 7 +5=35,8+-4=32d7 3+ 9=7?

A) 27 B) 24 C) 35 D)=

If7 +5=358+4=32then3+9= ?

A) 27 B) 24 C) 35 D) -

QrelTeT YT adald d adadlaied el &l fGoar 3gd. IHte §a eaeid &

g YRATdegredr el JUTRY TE&AT 2ATe.

27 42 40
@ O Gy
3 7 8
A)11 B) 10 C)9 D) 8

In the question below the numbers are arranged following a particular rule. Numers are arranged in
a peculiar manner in and around the circle while one number is missing find the missing number

27 42 40
3 7 8

A)11 B) 10 C)9 D)8

14

——
| —



87.

88.

89.

90.

91.

92.

RRTHY ST 31T

124 : 248 :: : 5000

A) 500 B) 0025 C) 2500 D) 2005

Fill in the blank.

124 : 248 :: : 5000

A) 500 B) 0025 C) 2500 D) 2005

HieATFush Wordl gedra 3= 7e HTel Srell,

A) 1892 B) 1800 C) 1888 D) 1896

The modern Olympic games started at Athens.

A) 1892 B) 1800 C) 1888 D) 1896

q=laol dde Il AT HTBId & HTell.

A) BAIdr RarelT AgRIST B) ©AUdl ISIRTH HERIS

C) TAUCT Mg FERIST D) STGeNE 33T
confiscated the grants of land from the lords and started to pay

Them.

A) Chhatrapati Shivaji Maharaj B) Chhatrapati Rajaram Maharaj

C) Chhatrapati Shahu Maharaj D) Aurangzeb

AR Tddadral eITuTdr I Fgeel S,

A) SlisT & B) fSaereir

) i _fFaw D) SiieT Sheldlel

Who is the pionner of reformation movement?

A) John Huss B) Zwingly

C) John Wycliffe D) John Calvin

e swic geard ALY FTel.

A) 3013 B) WIE C) AT D) 9T

Industrial Revolution Began in

A) England B) France C) Germany D) Japan

IARFTT 2Mer ol SFrgar?

A) SiTeT arfieed B) Slelad

C) arEhT - IMAT D) IARIN g
Who discovered America?

A) George Washington B) Columbus

C) Vasco- da- Gama D) amerigo Vespussi
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93.

94.

95.

96.

97.

98.

IE HEY 14 S 8T feas FEU AR el el

A) FTHATSIS Hidar B) faeralr

C) IS dcdTsh D) IsErT

14t™ July is celebrated as day in france.

A) Social Revolution B) Victory

C) Republic D) National

A) STHT B) hal C) Sl D) 3RTaTeT
Martin Luther Translated the Bible into language.

A) German B) French C) English D) Arabian

IiET AT WrdT 3NH HIVIAT SATT STer?

A) AR B) 3Rfaar C) I D) STUTeT
Where did the game chess originate?
A) India B) Arabia C) Europe D) Japan

QUeTer=gTT IS’ T TU Hof feligelr?

A) FBICHAT Pol B) AU Mg HERTS

C) BIYAT GHTST HERIS D) ST.USIRTE SRIHT

Who wrote the book ‘ Shetkaryancha Asud’?

A) Mahatma Phule B) Chhatrapati Shahu Maharaj
C) Chhatrapati Sambhaji Maharaj D) Dr. Panjabrao Deshmukh

HRATCHST IUTCAT AT Fald ofidl TG [heTRT oI1sTel 31Te?

A) ISRTT B) HERISE C) cIfAATg D) 3Tevcer
Which Indian state has the longest coastline?
A) Gujrat B) Maharashtra C) Tamilnadu D) Andhara Pradesh

HRATCHS g ShicTd STefeh FEULA HIUTA AT STl ST,

A) SBTE A B) UH.UH. TOTAIIU
C) TS THeAT D) TSN, 3isqel FHelH
Which scientist is known as the father of the Green Revolution in India?
A) Verghese Kurien B) M.S. Swaminathan

C) Raja Ramanna D) A.P.J. Abdul Kalam
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99.

100.

ARSI ITsguddiear AR [HAITaTATTem FIT FgUTATd?

A) sHaAfT B) orfl doid
C) SRFIEH Yo D) SgI$C &9
What is the official residence of the US President?

A) The Kremlin B) Elysee Palace
C) Buckingham Palace D) White House

HRATS GRISCHAT 10T HTRd?

A) AT TRTST B) T SOfr
C) TSty &g D) fader sl
Who is the foreign minister of India?

A) Sushma Swaraj B) Smruti Irani

C) Rajnath Singh D) Nitin Gadkari
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